@JSME 7 & 2 b U =X Flh % G 6 Rl 555 9 il DIERRE

Ty | =y 4T | & IE (RFETIE)
1 35, L13 | 15x(2.5)° /36 | 1.5x(2.5)° /36
P y, =% 4 g=X(—)/+3.08:3.14(m) y, =% 4 g=X(—)/+3.08:3.19 (m)
y, A 3.08x1.5x2.5 y A 3.08x1.5x2.5/2
2 p 36, L9 A A,
3 p40, FL2 | —-a=—-QxQxr=ri, —a=—0Qx(Qxr)=r%,
4 p 59, L8 2 2 200% —4° 2 2 2002 — 42
h,—h =- Yy U’ :—g:—mouo“ h,—h =— Yy _U° :—g:—z.oouo“
2 2 2 2 2 2
p 59, L10 4.00xX104J/kg 2.00X104J/kg
6 p 59, L.22 3 3
pl_pzzv_vzwzamxl(ﬁ pl_pzzv_vzwzggaxl(f
A 495 A 485
7 p 60, L1 3 5
YUk, . 5.74x10 200 Y b, : 5.86x10 20
U, §x1.23><(200><103 13600) U, Exl.23><(200><103 /3600)
8 p 85, . ] .
Q =12 liters/s Q =12 liters/min
5.36 (b)
9 p 90, K& (UL F % i)
ARHTHRAET HHEIE ADQEK(inlet loss) & W, ZDHEK~ Y FiT,
4h :g',’(vz/Zg)
TRIND (FITARBRRE) . BFEOFREEBEILIC AN LREENDS.
10 | p114,L19 | ik & Rtz AT
11 | p 141,
F(x) = p,11+0.05(x/L F(X)=p,1+k(x/L
o s 1+005(x/ L) k(L)
12 | p143,L1

0 o*u(X,
ou_, u(x, y)

ot oy’

ou _ ufy, 1)

ot oy’




13 p 160,
1.75%103 (N) 3.50x103 (N)
fi% [9-6]
14 | p199, FHE differential manometer 'R7AE~Y /A —X differential manometer ~FE~Y /S A —H
................ 230 30

2014/1/14 1ER%




